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QUESTION 1

You plan to take daily full backups, which include the ndbinfo and sys (internal) databases. Which command will back
up the databases in parallel?

A. mysgldump --single-transaction > full-backup-$(date +%Y%m%d).sql

B. mysqlpump --include-databases=% > full-backup-$(date +%Y%m$d).sql

C. mysqlpump --all-databases > full-backup-$(date +%Y%m%d).sql

D. mysqgldump --all-databases > full_backup-$(date +%Y%m%d).sql

Correct Answer: B

https://dev.mysqgl.com/doc/refman/8.0/en/mysqlpump.html By default --all-databases won\\'t backup ndbinfo schema this

can be done via --include-
database=%https://dev.mysql.com/doc/refman/8.0/en/mysqlpump.html#mysglpumprestrictions

QUESTION 2

Examine this command, which executes successfully:

-
|

» nysqlbackup --user=mysqlbackup --password --host=127,0,0,1 \
-<backup-inage=/backups/my,mbi \
--ackup-dir=/backup-tmp backup-to-1mage

Which two statements are true? (Choose two.)

A. A single-file backup is created.

B. The backup operation will finish only when backup-and-apply-log is executed.
C. The --backup-dir option holds temporary output, status, and metadata files.
D. The backup operation will finish only when apply-log is executed.

E. A raw backup is created.

Correct Answer: CD

QUESTION 3

Which two statements are true about the mysql_config_editor program? (Choose two.)
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A. It manages the configuration of the MySQL Firewall feature.

B. It manages the configuration of client programs.

C. It can move datadir to a new location.

D. It manages the configuration of user privileges for accessing the server.
E. It will use [client] options by default unless you provide --login-path.

F. It can be used to create and edit SSL certificates and log locations.

G. It provides an interface to change my.cnf files.

Correct Answer: BE

Reference: https://dev.mysqgl.com/doc/refman/8.0/en/mysql-config-editor.html

QUESTION 4

What is the correct syntax for using transparent data encryption with an existing InnoDB table?
A. ALTER TABLE t1 ADD ENCRYPTED_TABLESPACE = \\'Y\\

B. ALTER TABLE t1 ENCRYPTION=\\'Y\V;

C. ALTER TABLE t1 WITH ENCRYPTION USING MASTER KEY;

D. ALTER TABLE t1 SET TDE = \'ON\\;

Correct Answer: A

QUESTION 5

Examine this command, which executes successfully: cluster.addinstance( @:\\', {recoveryMethod: “clone\\'}) Which
three statements are true? (Choose three.)

A. The account used to perform this recovery needs the BACKUP_ADMIN privilege.

B. A target instance must exist, then it will be provisioned with data from an instance already in the cluster and joined to
the cluster.

C. InnoDB tablespaces outside the datadir are able to be cloned.
D. It is always slower than {recoveryMethod: “incremental\\'}.

E. A new instance is installed, initialized, and provisioned with data from an instance already in the cluster and joined to
the cluster.

F. InnoDB redo logs must not rotate for the duration of the execution; otherwise, the recovery will fail.

Correct Answer: ADF
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